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ل �وى 
��و
� ا�
واء ,  ��g=10 SIط�  :ا�
	ر�ن ا�ول�.                                                                                                                             

��!دة !��  ��ض Aا��داء 
ن ا���ون  
ن ا�
و��  �����M=200g  (S)��م ���ط �
�و�د  .#����� 

�ت (��و��� 
ن  
���� ا)'رى ا� ��ض� ا�#رة ��  
��ا�
ن  h=1m!�� ار�%�ع  ا���م +
.               


�دار  -� �,ط ا� ��ض�X.  ض��ت 
رو � ا� ��+K=200N/m ,.- �
�لا�(�ل  ���
                                                                                                                             ا�
1– ��

� ا�����
                                . Cو A! د ا�
و���ن ) ��ض+  (S)��م (
� ھ. أ(��ل ا�ط��� ا��. �
2– ��
��ن  ا�
و���ن  )  ��ض+  (S)��م ( 
+ل 
'طط ا�ط��� ���A وC                                                   

                                                                                                                             . ا3 #%�ظ+م ا��ب 
��د�� 
                                                                                                       . Xا#�ب 
�دار ا4 �,�ط   –3

+ل ا��وى ا�
ؤ+رة !�� ا���م ! د ا�
و��  –4C.                                                                      

� ا� ��ض !�� ا���م  ! د ا�
و��ا#�ب  –5��
� ا��وة ا��. �ط�� C.                                            


ا�
	ر�ن ا���� : 

                                                                                                                         .     ��R=8 ,31 SIط� ا�+��ت ا���م ��,�زات 
1–  �


ن �7ز #� ��
�V1=2L  �
                                                                                             T1=0°C  و در�� #رار�
� P1=1 Atm  و �,ط
9�8 �,ط� –أ� �
�#ت  %س در�� ا�#رارة ؟                                                              2Atm  P2= �م �9�8 #�م ھذا ا�,�ز ! د


�دة ھذا ا�,�ز  –ب ��
� �
.                                                                                                                           ا�� �= ��
1
� ھ. در�� #رارة   –3mol   ن

� و �7P= 1Atmز �,ط� �# V=24L ؟                                      

� ھ. ��
� ا�#�م ا�
و�. ��,�زات ! د   –4P=1 Atm وt=20°c                                                                    
-. ھذه   ��,�زات ��ط� ��
� ا�#�م ا�
و�.   T=0°C��رات 
ن �7ز در�� #رار��  10
� ھو �,ط  –5

 VM=22,4 L/mol   روط ا�(

 : �ثا�
	ر�ن ا���



ل �وى 
��و
� ا�
واء,   ��g=10 SIط� �                                                                                                                            .


ل ا����� و !د�م ا4
�ط�ط                                                  
                                                                ��ر ��م �9ب  �وا�ط� #�ل 


��و  ��!)AB ( �زاو��                                                                                                                  α=30°أ
�س 
�@ل !ن ا)-ق 

واز�� ��
��ر  F-�ط�ق ا�#�ل  �وة  )AB(                                                                                                                     م���ل ا���-

�ل �
� -. ا�(�ل  V=2m/S   ��#رك ��ر!� +���� �درھ���
.                                                                    ا�

+ل ا��وى ا�
ؤ+رة !�� ا���م                                                                                                    –1

2–  �
                                                             .                                                                     Fا��وة 
� ھ. ��
                                                            ��ط� F���وة  Pا��#و�ل ��ن أن !��رة ا��ط�!� –3

��رة ����P=F.V  �
�
                                                                                                  .      +م ا#�ب ��
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